Order of Operations (A)

—_—

.5.6+3.6-1.6

2. 42— (1.5x 1.4)

W

L 4.6% (6.7+4.3)

4.7.6+1.3—-5.8

5.3.6+(4.1-2.9)

Perform the operations in the correct order.

6.0.1+5.6+8.1

7. 1.3+ (3.7+7.4)

8. 7—(4.9+9.8)

9.6.54+2.3-29

10. (6.5+1)x7.8

1. 1.6+ (8.1—4.1)

12.42485+1

13. 1.6+ (9.1 —7.5)

14.7—6.44+7.7

15. 5.3 x5-3.5
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Order of Operations (A) Answers

Perform the operations in the correct order.

6+3.6—1.6 6.0.1+5.6+8.1 1. 1.6+ (8.1—4.1)

7.6 =13.8 =04

2—(1.5x1.4) 7. 1.3+(3.7+17.4) 12. 42+8.5+1
=2.1 =2.6 = 13.7

6% (6.7+4.3) 8. 7—(4.9+9.8) 13. 1.6+ (9.1 —7.5)

50.6 =6.5 =1

6+13-5.8 9.6.5+23-29 14.7—6.447.7

3.1 =35.9 =8.3

6-+(4.1-2.9) 10. (6.5+1)x7.8 15. 5.3 x5-3.5

3 = 50.7 =23
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Order of Operations (B)

—_—

. 84—-79+5.5

2.7.4+85—-4

3. (2.152.1) x 4.7

4.92-35+4+6

.6.74+44+9

9

Perform the operations in the correct order.

6.6.1+4.5x2.2

7. (5.140.5) x5.5

8. 9.7—(3.6+5.4)

9.1.4+19-24

10. 6—0.4+3.8

11. 4.84+6.7—3.3

12.2.3+4.9+2.8

13.9.24+5-9.6

14.3.5+(7.9+17.9)

15. 4.2+0.3—-9.5
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Order of Operations (B) Answers

Perform the operations in the correct order.

. 84—-T79+5.5 6.6.14+4.5x2.2 11. 4.84-6.7—-3.3
744854 7. (5.140.5) x 5.5 12. 2.34+4.9+2.8
=11.9 =30.8 =10

(21+2.1)x4.7 8.9.7—(3.6+5.4) 13.9.24+5-9.6
9.2—3.546 9.14+19-24 14.3.5+(7.9+7.9)
=11.7 =09 =35

. 6.7+4+9 10. 6—0.4+3.8 15.4.2+0.3-9.5
=19.7 =94 =45
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Order of Operations (C)

—

1 9.6% (5.1+3.4)

2.14+5.7—-0.9

3.3 % (3.5 x4.6)

4.59—(4—3.1)

5.4.5—(1x0.9)

Perform the operations in the correct order.

6.7.2— (4.8—4.5)

7.41+2.1-55

8. (6x4)x0.6

9. 1.8 +2.941.7

10. 9.84+1.7—-2

11. 9.8 x (7x 1)

12. (10x0.5) =2

13. 5.5 x4.6—1.3

14. 8.6 — (4.9 —-2.7)

15. 8.8 x(9.3+6.2)
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Order of Operations (C) Answers

9.6 % (5.1+3.4)
= 81

.6

14+5.7-0.9
=35.8
.3%x(3.5%x4.6)
=48.3

59— (4—3.1)
=35

45— (1x0.9)
=3.6

Perform the operations in the correct order.

6. 7.2 —
=6.9

(4.8 —4.5)

8x (7
68.6

=
—~
(U
o O

13. 5.5 x4.6—1.3
=24

14. 8.6 —
=6.4

(4.9-2.7)

15. 8.8 X (9.3+6.2)
=13.2
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Order of Operations (D)

Perform the operations in the correct order.

1.7.5+(2.9-2.6) 6.9 x4.1+10 1. (1.940.5)+3
2.9848.6—-1.7 7. (9.7—7.4) x7 12.2.1—-1.5+5
3.9.849.6 -2 8.4.4—-23+0.9 13.6.44+29-9

4. 09+-1.5+34 9. 6.1 x2—-2.6 14. 5.6 +5.946.1
5.7.64+3.94+47 10. 10 X (9.9 —9.6) 15. 2.2 x (6.9 —-2.9)
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Order of Operations (D) Answers

Perform the operations in the correct order.

.7.5+(29-2.6) 6. 9x4.14+10 11. (1.940.5) =3
=25 =46.9 =0.8

.9.84+8.6-1.7 7. (9.7—7.4) x 7T 12.2.1—1.54+5
= 16.7 = 16.1 =56
9.8+9.6—-2 8.4.4—-23+0.9 13.6.44+2.9—-9
=17.4 =3 =0.3

.09+-15+34 9. 6.1 x2-2.6 14. 5.6 +5.9+6.1
— 4 =96 =17.6
7.6+39+4.7 10. 10 x (9.9—-9.6) 15. 2.2 x (6.9—-2.9)
= 16.2 =3 = 8.8
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Order of Operations (E)

- (3+2)

—_—

2. (6%3.9)+1.5

3.8.1+(0.4-0.1)

4.44—-18—-1.2

9

15427 +54

Perform the operations in the correct order.

6. 3.1+7.9-6.8

7.1.5—(7.5-6.9)

8. (8.2+8.2) X 6.6

9. 7.94+0.2+2.8

10. 1.64+9x%x9.6

11. (9.4—2.4)x8.7

12. 76 +6.3—-0.9

13. 3.44+3x7.6

14. 8.5 x2—8.8

15. (6.4—3.5)+0.2
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Order of Operations (E) Answers

Perform the operations in the correct order.

1 (342) 6.3.1+7.9-6.8 1. (9.4—2.4) x 8.7
=25 =4.2 = 60.9

2. (6x3.9)+1.5 7.1.5—(75-6.9) 12. 7.646.3—0.9
=15.6 =0.9 =13

3.8.1+(0.4—0.1) 8. (8.2+8.2)x6.6 13. 3.4+ 3x7.6

4.44—-1.8—-1.2 9. 7.940.242.8 14. 8.5x2—-8.8
=14 =10.9 = 8.2

5.1.5427+54 10. 1.6+9 % 9.6 15. (6.4—3.5)+0.2
= = 88 =14.5
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Order of Operations (F)
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. 8.4+02+4.6

2.39+(1+2)

3. (9%3.4)+6.8

4. 4% (0.6+0.2)

5.6.4—(6.4—2)

Perform the operations in the correct order.

6. (2.8+2.8) x 4.8

7.0.8 x (2.1+1.9)

8. (7T+1.4)+2

9. 0.3 x (6+1.2)

10. (7.1—-1.5)=+1

11. 3.8+3.6 x3.5

12. (143.6)+2.3

13. (9.9+0.7) x9

14.6.1—1.4—-0.2

15.9.6 — (1.240.9)
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Order of Operations (F) Answers

. 8.4+0.2+4.6
= 46.6

3.9+ (1+2)
=7.8
(9%x3.4)+6.8
=4.5
4x(06 0.2)
=12

64— (6.4—2)
=2

Perform the operations in the correct order.

6. (2.8+2.8) x 4.8

11. 3.8+3.6 x3.5

=4.8 =164

7. 0.8 x (2.1+1.9) 12. (143.6)+2.3
=3.2 =2

8. (7+1.4)+2 13. (9.94+0.7) x9

9. 0.3 % (6+1.2) 14.6.1—1.4—-0.2
=1.5 =4.5

10. (7.1—-1.5)=1 15.9.6 —(1.2+0.9)
=5.6 =17.5
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Order of Operations (G)

—

.5.9—(0.5x2.8)

[\

. 0.7+(53-5.2)

3.0.6=(8.1-5.1)

4.25+0.1+6.2

5. (3.621.2)=0.5

Perform the operations in the correct order.

6. 2.34+5.6+3.3

7.5.1+8+9

8. 4.4 — (6—4.1)

9. 8.2+ (6.5 —4.5)

10. (9%2.3) =1

11.9x5-54

12. (4.949) x7

13. (3.242.3)+1.1

14. 10+7 x 6.7

15.5.14+8.2+2
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Order of Operations (G) Answers

Perform the operations in the correct order.

.5.9—-(0.5x%x2.8) 6. 2.3+5.64+3.3 11.9x5-54
—4.5 =11.2 = 39.6
0.7+(53-5.2) 7.5.1+8+4+9 12. (4.949) x7
=7 =22.1 =97.3

. 0.6+ (8.1-5.1) 8. 4.4—(6—4.1) 13. (3.2+2.3)=1.1
=0.2 =2.5 =5
25+0.14+6.2 9. 8.2+ (6.5—-4.5) 14. 10+7 x 6.7
=31.2 =4.1 =56.9
(3.6+-1.2)=0.5 10. (9x2.3)+1 15.5.1+8.2+2
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Order of Operations (H)
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.92+9.6x4.5

2.2.8+1+4.2

3.0243.6-29

4. (63—5) %5

5.75%x94-5.9

Perform the operations in the correct order.

6.6.5+8.2x9.5

7.4x69+2.9

8. 4.8=1.2+3.7

9. 10 x9.243.7

10. 4.64+0.7+4.1

11. 6.4 — (9.6 —8.6)

12. (2.5x0.2) =1

13. 0.7+7.6+8

14. (9.5x4.8)+1

15. 1.6 — (1.6 +2)
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Order of Operations (H) Answers

3.

.6 x4.5

. 2.8+1+4.2
=17

6—-29

Perform the operations in the correct order.

6. 6.54+82x9.5 11. 6.4—(9.6—8.6)
= 84.4 — 5.4

7.4%x 69429 12. (2.5%x0.2) =1
=30.5 =0.5

8. 4.8 +-1.2+3.7 13. 0.7+7.6+8
=17.7 =16.3

9. 10 x9.2+3.7 14. (9.5x4.8)+1
=95.7 —45.6

10. 4.6 +0.7+4.1 15. 1.6 — (1.6 -2)
=94 =0.8
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Order of Operations (I)

.64+59+8.6

(2.5%3.6)+3.6

. 834+43—-1.8

. 1.54+64+6.6

. 5.9+48+42.1

Perform the operations in the correct order.

6. 7.6 +3.6 x 10

7. (8.6 —2.6) x 0.6

8. 2.14+5x%x9.1

9. 7.8 +1.547.8

10. 4.4=-0.1—1.2

11. 2.2x5.5-0.1

12. 54— (4.8+1.2)

13. 6.5 x8.6—-7.1

14. 10 x (0.1=1)

15.9.4+(1.2+1.2)
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Order of Operations (I) Answers
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. 83+43—-1.8
= 10.8

. 1.54+64+6.6
= 14.5

.5.9+48+42.1
=12.8

Perform the operations in the correct order.

6. 7.6 +3.6 x 10 11. 2.2 x5.5—-0.1
=43.6 =12

7. (8.6 —2.6) x 0.6 12. 54— (4.8+1.2)
=3.6 =14

8. 2.1+5x9.1 13. 6.5 x8.6—-7.1
=47.6 =48.8

9. 7.841.54+7.8 14. 10 x (0.1+1)
=17.1 =1

10.44+-0.1—-1.2 1594+ (1.2+1.2)
=42.8 =94
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Order of Operations (J)
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. (9.9-3.6)=0.9

2. 1.7+7.3+1

3.84+1.2x1.5

4.33—(1.6+0.8)

5. (0.8 x5)x3.8

Perform the operations in the correct order.

6. 3x6.8—3.6

7.3.348.5—-4.8

8. (9.6+3.2) x 0.1

9. (6.4—2.2)+0.5

10. (0.4+0.9)+1

1. 7.3—(1.1+0.1)

12. (4.3+5.7) x 8.5

13. 14+8.2—4

14. (9.6—9.1) X 9.6

15. (0.5+9.3) x 4
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Order of Operations (J) Answers

Perform the operations in the correct order.

1. (9.9—-3.6)=0.9 6. 3x6.8—3.6 1. 7.3—=(1.1+0.1)
7 =16.8 =6.1

2. 174731 7.33+8.5-4.8 12. (4.3+5.7) x 8.5
=9 =17 =85

3.8+1.2x%x1.5 8. (9.6+3.2) x0.1 13.14+82—4
=928 =0.3 =52

4.33—(1.6+0.8) 9. (6.4—22)=0.5 14. (9.6—9.1) x 9.6
=0.9 = 8.4 =4.8

5. (0.8 x5)x3.8 10. (0.440.9)+1 15. (0.54+9.3) x4
=15.2 =1.3 =39.2
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